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o [lread.tableiBHU XY MENEZR > Fisep = » e (i Fres 1ape23&<{ﬂ[§l’j melt () FTERIE exposure EEFETESHA » 18F dayl Al day2 BYRZEEH|E
header = TRUE ~ as.is =TRUE -~ comment.char = » { ﬁjcjj%g;rgﬁ » N7 Bl 25 H W [ 5 528857 variable A value » I R[E 2R dayl K1 day2 FYEHE. » 4
skip = N5 E 1EMEE B EMERE ZCETTE o & 2 I ERFEEEF B exposure0l o

o Y[E 15 s Llread.table(“E:\\data\\fileO1.csv”, o [E 3 HRtE 2 TNERME exposure01 Hrim R Er variable 1 value » EE¥T 4% 5 between 1
sep="", header=TRUE) » 3EHUAT E filrr &t concentration /[ Zg& B ERIFE LT B exposure02 o

data EHEI’] ZRLFe fileOl.csv o
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expcsure
idno
1

> exposurell

idno worker wvariable
dayl
dayl

neader=TRUE,
1 Condition?

text="

value
.914172
.471001

dayl
.914172
.471001

dayZ2 worker
.179576

.298556

= 00 W L RO

.801369
.279745
.358511
.780112

.172514
.346465
.879843

.567759

dayl
dayl
dayl
dayl
day2

.801369
.279745
.358511
. 780112
.179576

.298556
.172514
.346465
.879843
.567759

exposurell <-melt (exposure, id=c("idno", "worker'"))
exposurell

idno worker wvariable
dayl
dayl
dayl
dayl
dayl
dayl
day2
day2
day2
day2
day2
day2

:IZ Dlmelt()iXexposure¥i¥between]

day2
day2
day2
day2
day2
> exposurel2 <-melt (exposure, id=c("idno", "worker"),

+ variable.name=c ("between'"), value.name=c("concentration'"))
> exposurel2

idno worker between concentration

dayl .914172

dayl .471001

dayl .801369

dayl .279745

dayl .358511

dayl . 780112

day2 .179576

day2 .298556

B 3. Limelt()3hf7E KM fErawdata wide &
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Conditcionl Conditcionl
1=3.0
15 .0

10 .0

value
.914172
.471001
.801369
.279745
. 358511
. 780112
.179576
.298556
.172514
.346465
.879843
.567759
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o [JdoByE(HHITEN Jﬂf exposure02 H1 & 55888 between e «r_{gngbrﬁ{ﬁ‘TﬁzAEﬂ* %Lr R
BAE dayl A1 day2 Wi{EXE R concentration FYFE it R4k = [FTFHERME response01 fiRdE e FRIE

-E

, ¢t Ed

HIVETER > 4520 +HE - A8 (concentration.n) ~ “FiE1{E

(concentration.m) ~ fEXEZE (concentration.s) ~ T AMH
(concentration.max) &z /] ME (concentration.min) > 7]

responsell
response number percentage
Disagree a lot 166 13.5
Disagree a little 116 9.4
No opinion 171 13.9
Agree a little 234 19.2
Agree a lot 542 44.1
library (ggpubr)
ggbarplot (response0l, x='"response", y="percentage", fill = "response",
color = "response", position = position dodge(0.9), x.text.angle = 43) +
theme (legend.position="right") + labs(x="Response', y = '"Percentage (%)")

4 o

==
=]

> install.packages ("doBy")
Warning: package ‘doBy’ 1is in use and will not be installed
> library (doBy)
> summaryBy (concentration~between, data=exposure(2,
+ FUN = function(x) { c(n=length(x), m = mean(x),
+ 8 = sd(X), max=max(x, na.rm=T), min=min(x, na.rm=T))})
between concentration.n concentration.m concentration.s
dayl 6 3.600818 1.361307
day2 6 3.907452 1.398663
concentration.max concentration.min
4,780112 1.801369
5.879843 2.179576
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concentration BNHEIIUMESET

Response

R response A {EERIHYE 7

EE
LL(percentage)

e response01




